Friday 3rd July 2020
A consecutive number is the number that follows. So for example 
2 consecutive numbers are 3 and 1
6 consecutive numbers are 5 and 7 
10 consecutive numbers are 9 and 11
[image: ]1st attempt
1 – 2 – 4 – 3
This is incorrect as 1 and 2 are consecutive number and 3 and 4 are as well.
2md attempt 
2-4 -1 -3 
This is correct as neither of the numbers they are next to are consecutive numbers.
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Use the numbers 1-4 once.
Write one number in each circle
to crack the code. Numbers next
to each other must not be
consecutive numbers,
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Use the numbers 1-4 once.
Write one number in each circle
to crack the code. Numbers next

to each obther must not be
consecutive numbers,
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Use the numbers 1-5 once,

Write one number in each circle
to crack the code. Numbers next
to each other must not be
consecutive numbers.
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Use the numbers 1-6 once.
Write one number in each circle
to crack the code. Numbers next

to each obther must not be
consecutive numbers,




